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1. With reference to the carbon nanotubes, consider the 7.

following statement :

1.  They can be used as the carriers of drugs and
antigens in the human body.

2. They can be made into artificial blood capillaries for
an injured part of human body.

3. They can be used in biochemical sensors.

4. Carbon nanotubes are biodegradable.

Which of the statements given above are correct ?

(@ 1and2only (b) 2,3 and 4 only
(¢) 1,3 and 4 only (d 1,2,3and4
2. Consider the following activities : 8.

1. Spraying pesticides on a crop field
2. Inspecting the craters of active volcanoes
3. Collecting breath samples from spouting whales for
DNA analysis
At the present level of technology, which of the above
activities can be successfully carried out by using drones?
(@ 1and2only (b) 2 and 3 only
(¢) 1and 3 only (d 1,2and3
3. The experiment will employ a trio of spacecraft flying in
formation in the shape of an equilateral triangle that has 9.
sides one million kilometres long, with lasers shining
between the craft.” The experiment in question refers to
(@) Voyager-2 (b) New Horizons
(c) LISA Pathfinder (d) Evolved LISA
4. Consider the following statements :
1. Genetic changes can be introduced in the cells that
produce eggs or sperms of a prospective parent.
2. Aperson’s genome can be edited before birth at the

early embryonic stage. 10.

3. Human induced pluripotent stem cells can be
injected into the embryo of a pig.

Which of the statements given above is/are correct ?

(@) 1 only (b) 2 and 3 only

(c) 2only (d 1,2and3

5. What is the importance of using Pneumococcal

Conjugate Vaccines in India?

1. These vaccines are effective against pneumonia as
well as meningitis and sepsis.

2. Dependence on antibiotics that are not effective
against drug-resistant bacteria can be reduced.

3. These vaccines have no side effects and cause no
allergic reactions.

Select the correct answer using the code given below :

(@) 1 only (b) 1 and 2 only

(c) 3 only (d 1,2and3

6. In India, the term “Public Key Infrastructure” is used in

the context of

(a) Digital security infrastructure

(b) Food security infrastructure

(c) Health care and education infrastructure

(d) Telecommunication and transportation infrastructure

11.

12.

Time Limit: 2Hr.

Which of the following statements are correct regarding

the general difference between plant and animal cells ?

1. Plant cells have cellulose cell walls whilst animal
cells do not.

2. Plant cells do not have plasma membrane unlike
animal cells which do.

3. Mature plant cell has one large vacuole whilst an
animal cell has many small vacuoles.

Select the correct answer using the code given below :

(@) 1 and 2 only (b) 2 and 3 only

(¢) 1 and 3 only (d 1,2and3

Which of the following are the reasons/factors for

exposure to benzene pollution ?

1. Automobile exhaust

2. Tobacco smoke

3. Wood burning

4. Using varnished wooden furniture

5. Using products made of polyurethane

Select the correct answer using the code given below :

(@ 1,2and 3 only (b) 2 and 4 only

(¢) 1,3 and4 only (d 1,2,3,4and5

If another global financial crisis happens in the near

future, which of the following actions/policies are most

likely to give some immunity to India ?

1. Not depending on short-term foreign borrowings

2. Opening up to more foreign banks

3. Maintaining full capital account convertibility

Select the correct answer using the code given below :

(@ 1 only (b) 1 and 2 only

(¢) 3only (d 1,2and3

If you withdraw Rs. 1,00,000 in cash from your Demand

Deposit Account at your bank, the immediate effect on

aggregate money supply in the economy will be

(@) toreduce it by ¥ 1,00,000

(b) toincrease it by ¥ 1,00,000

(c) toincrease it by more than ¥ 1,00,000

(d) to leave it unchanged

With reference to the cultural history of India, which one

of the following is the correct description of the term

‘paramitas’?

(@ The earliest Dharmashastra texts written in
aphoristic (sutra) style.

(b) Philosophical schools that did not accept the
authority of Vedas.

() Perfections whose attainment led to the Bodhisattva path

(d) Powerful merchant guilds of early medieval south India.

In the context of Indian history, the Rakhmabai case of

1884 revolved around:

1. women’s right to gain education

2. age of consent

3. restitution of conjugal rights

Select the correct answer using the code given below:

(@ 1and2only (b) 2 and 3 only

(¢) 1and 3 only (d 1,2and3
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Indigo cultivation in India declined by the beginning of

the 20th century because of

(@) Peasant resistance to the oppressive conduct of
planters

(b) Its unprofitability in the world market because of
new inventions

(¢c) National leaders’ opposition to the cultivation of
indigo

(d) Government control over the planters

Wellesley established the Fort William College at

Calcutta because

(@) He was asked by the Board of Directors at London
to do so

(b) He wanted to revive interest in oriental learning in
India

(c) He wanted to provide William Carey and his
associates employment

(d) He wanted to train British
administrative purposes in India

With reference to the history of India, “Ulgulan” or the

Great Tumult is the description of which of the following

events?

(@ The Revolt of 1857

(b) The Mappila rebellion of 1921

(¢) The Indigo revolt of 1859 — 60

(d) Birsa Munda’s revolt of 1899-1900

With reference to the scholars/litterateurs of ancient

India, consider the following statements:

1. Panini is associated with Pushyamitra Shunga

2. Amarasimha is associated with Harshavardhana

3. Kalidasa is associated with Chandra Gupta-II

Which of the statements given above is/are correct?

(@ I and2 only (b) 2 and 3 only

(c) 3only (d 1,2and3

In the context of recent advances in human reproductive

technology, ‘Pronuclear Transfer” is used for

(a) Fertilization of egg in vitro by the donor sperm

(b) Genetic modification of sperm producing cells

(c) Development of stem cells into functional embryos

(d) Prevention of mitochondrial diseases in offspring

With the present state of development, Artificial

Intelligence can effectively do which of the following?

1. Bring down electricity consumption in industrial
units

2. Create meaningful short stories and songs

3. Disease diagnosis

4. Text-to-speech conversion

5. Wireless transmission of electrical energy

Select the correct answer using the code given below:

(@ 1,2,3and5Sonly (b) 1,3,and4 only {?}

(¢) 2,4, and5 only (d 1,2,3,4and5

With reference to visible light communication (VLC)

technology, which of the following statements are correct?

1. VLC uses electromagnetic spectrum wavelengths
375 to 780nm

2. VLC is known as long-range optical wireless
communication

3. VLC can transmit large amounts of data faster than
Bluetooth

4. VLC has no electromagnetic interference

civilians for

20.
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Select the correct answer using the code given below

(@ 1,2and 3 only (b) 1,2 and 4 only

(¢) 1,3 and4 only (d) 2,3 and4 only

With reference to “Blockchain Technology” consider the

following statements:

1. It is a public ledger that everyone can inspect, but
which no single user controls.

2. The structure and design of blockchain is such that
all the data in it are about cryptocurrency only

3. Applications that depend on basic features of
blockchain can be developed without anybody’s
permission.

Which of the statements given above is/are correct?

(@ 1 only (b) 1 and 2 only

(c) 2only (d) 1and 3 only

A parliamentary system of government is one in which

(@) All political parties in the parliament are represented
in the government

(b) The government is responsible to the parliament
and can be remove by it

(c) The government is elected by the people and can be
removed by them

(d) The government is chosen by the parliament but
cannot be removed by it before completion of a fixed
term

Which part of the Constitution of India declares the ideal

of Welfare state?

(a) Directive principles of state policy

(b) Fundamental rights

(c) Preamble

(d) Seventh schedule

Consider the following statements:

1.  The Constitution of India defines its ‘basic
structure’ in terms of federalism, secularism,
fundamental rights and democracy.

2. The Constitution of India provides for ‘judicial review’
to safeguard the “citizens’ liberties and to preserve the
ideals on which the constitution is based.

Which of the statements given above is/are correct?

(@ 1 only (b) 2 only

(¢) Both 1and 2 (d) Neither 1 nor 2

One common agreement between Gandhism and Marxism is

(@) The final goal of a stateless society

(b) Class struggle

(c) Abolition of private property

(d) Economic determinism

In the context of India, which one of the following is the

characteristic appropriate for bureaucracy?

(@ An agency widening the scope of parliamentary democracy

(b) An agency for strengthening the structure of federalism

(c) An agency for facilitating political stability and
economic growth

(d) An agency for the implementation of public policy

The Preamble to the Constitution of India is

(@) A part of the Constitution but has no legal effect

(b) Not a part of the Constitution and has no legal
effect either

(c) A part of the Constitution and has the same legal
effect as any other part

(d) A part of the Constitution but has no legal effect
independently of other parts
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“Gold Tranche” (Reserve Tranche) refers to

(@) A loan system of the World bank

(b) One of the operations of a central bank

(c) A credit system granted by WTO to its members

(d) A credit system granted by IMF to its members

With reference to the provisions contained in part IV of

the constitution of India, which of the following

statements is/are correct?

1. They shall be enforceable by courts

2. They shall not be enforceable by any court

3. The principles laid down in this part are to influence
the making of laws by the state

Select the correct answer using the code given below

(@ 1only (b) 2 only

(¢) 1and 3 only (d) 2 and 3 only

Consider the following statements:

1. According to the Constitution of India, a person who
is eligible to vote can be made a minister in a state for
six months even if he/she is not a member of that state.

2. According to the Representation of People
Act,1951, a person convicted of a criminal offence
and sentenced to imprisonment for five years is
permanently disqualified from contesting an election
even after his release from prison.

Which of the statements given above is/are correct?

(@ 1only (b) 2 only

(c) Both 1and?2 (d) Neither 1 nor 2

Consider the following statements:

1. The president of India can summon a session of
Parliament at such place as he/she thinks fit.

2. The Constitution of India provides for three
sessions of the Parliament in a year, but it is not
mandatory to conduct all three sessions

3. There is no minimum number of days that the
Parliament is required to meet in a year.

Which of the statements given above is/are correct?

(@) 1 only (b) 2 only

(c) 1 and 3 only (d) 2 and 3 only

Consider the following statements:

1. Aadhaar metadata cannot be stored for more than
three months

2. State cannot enter into any contract with private
corporations for sharing of Aadhar data

3. Aadhaar is mandatory for obtaining insurance
products.

4. Aadhar is mandatory for getting benefits funded out
of the Consolidate fund of India.

Which of the statements give above is/are correct?

(@) 1 and 4 only (b) 2 and 4 only

(c) 3 only (d) 1,2 and 3 only

Rajyasabha has equal powers with Loksabha in

(@) The matter of creating new all India services

(b) Amending the Constitution

(c) The removal of the government

(d) Making cut motions

With reference to the funds under Members of Parliament

Local Area Development Scheme(MPLADS), which of

the following statements are correct?

1. MPLADS funds must be used to create durable
assets like physical infrastructure for health,
education etc.,

34.

3s.

36.

37.

38.

39.

2. A specified portion of each MP’s fund must benefit
SC/ST populations

3. MPLADS funds are sanctioned on yearly basis and
the unused funds cannot be carried forward to the
next year.

4. The district authority must inspect at least 10% of
all works under implementation every year

Select the correct answer using the code given below:

(@) 1 and 2 only (b) 3 and 4 only

(¢) 1,2and 3 only (d) 1,2 and4 only

Which one of the following categories of Fundamental

Rights incorporates protection against untouchability as

a form of discrimination?

(@) Right against Exploitation

(b) Right to freedom

(c) Right to constitutional remedies

(d) Right to equality

In India, separation of judiciary from the executive is

enjoined by

(a) The Preamble of the Constitution

(b) A Directive Principle of state policy

(¢) The Seventh schedule

(d) The conventional practice

Along with the Budget, the Finance Minister also places

other documents before the Parliament which include

‘The Macro Economic Framework Statement’. The

aforesaid document is presented because this is

mandated by

(@) Long standing parliamentary convention

(b) Article 112 and Article 110(1) of the Constitution of
India

(c) Article 113 of the Constitution of India

(d) Provisions of the Fiscal Responsibility and Budget
Management Act, 2003

A constitutional government by definition is a

(@) government by legislature

(b) popular government

(c) Multi party government

(d) Limited government

Other than the Fundamental Rights, which of the

following parts of the Constitution of India reflect/

reflects the principles and provisions of the Universal

Declaration of Human Rights (1948)?

1. Preamble

2. Directive Principles of State Policy

3. Fundamental Duties

Select the correct answer using the code given below:

(@ 1and 2 only (b) 2 only

(¢) 1and 3 only (d 1,2and3

In India, Legal Services Authorities provide free legal

services to which of the following type of citizens?

1. Person with an annual income of less than Rs.
1,00,000

2. Transgender with an annual income of less than Rs.
2,00,000

3. Member of Other Backward Classes (OBC) with an
annual income of less than Rs. 3,00,000

4. All Senior Citizens

Select the correct answer using the code given below:

(@ 1and 2 only (b) 3 and 4 only

(¢c) 2and 3 only (d) 1 and 4 only
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Consider the following pairs:

1. Alma-Ata Declaration: Healthcare of the people

2. Hague Convention: Biological and chemical
weapons

3. Talanoa Dialogue: Global climate change

4. Under2 Coalition: Child rights

Which of the pairs given above is/ are correctly matched?

(@ 1 and 2 only (b) 4 only

(¢) 1 and 3 only (d) 2,3 and4 only

With reference to the history of India, consider the
following pairs:

1. Aurang: In-charge of treasury of the State

2. Banian: Indian agent of the East India Company

3. Mirasidar: Designated revenue payer to the State

Which of the pairs given above is/are correctly matched?

(@ 1 and2 only (b) 2 and 3 only

(¢) 3only (d 1,2and3

With reference to the religious history of India, consider

the following statements:

1. Sthaviravadins belong to Mahayana Buddhism.

2. Lokottaravadin sect was an offshoot of
Mahasanghika sect of Buddhism.

3. The deification of Buddha by Mahasanghikas
fostered Mahayana Buddhism.

Which of the statements given above are correct?

(@ 1 and2 only (b) 2 and 3 only

() 3only (d 1,2and3

Which of the following statements correctly explain the

impact of the Industrial Revolution on India during the

first half of the nineteenth century?

(@) Indian handicrafts were ruined.

(b) Machines were introduced in the Indian textile
industry in large number.

() Railway lines were laid in many parts of the
country.

(d) Heavy duties were imposed on the imports of British
manufactures.

Consider the following events in the history of India:

1. Rise of Pratiharas under King Bhoja

2. Establishment of Pallava  power
Mahendravarman — I

3. Establishment of Chola Parantaka — I

4. Pala dynasty founded by Gopala

What is the correct chronological order of the above

events, starting from the earliest time ?

(@ 2-14-3 (b) 3-14-2

(c) 2413 (d) 3412

Which of the following phrases defines the nature of the

‘Hundi’ generally referred to in the sources of the post-

Harsha period?

(@) An advisory issued by the king to his subordinates

(b) A diary to be maintained for daily accounts

(c) Abill of exchange

(d) An order from the feudal lord to his subordinates

With reference to the book “Desher Katha” written by

Sakharam Ganesh Deuskar during the freedom struggle,

consider the following statements :

1. It warned against the Colonial State’s hypnotic
conquest of the mind.

2. It inspired the performance of swadeshi street plays
and folk songs.

under
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3. The use of ‘desh’ by Deuskar was in the specific
context of the region of Bengal.

Which of the statements given above are correct?

(@) 1 and 2 only (b) 2 and 3 only

(¢) 1 and 3 only (d 1,2and3

The Gandhi-Irwin Pact included which of the following?

1. Invitation to Congress to participate in the Round
Table Conference

2. Withdrawal of Ordinances promulgated in
connection with the Civil Disobedience Movement

3. Acceptance of Gandhi’s suggestion for enquiry into
police excesses

4. Release of only those prisoners who were not
charged with violence

Select the correct answer using the code given below

(@ 1 only (b) 1,2 and 4 only

(c) 3 only (d) 2,3 and4 only

The Vital-Vidhvansak, the first monthly journal to have

the untouchable people as its target audience was

published by

(@) Gopal Baba Walangkar

(b) Jyotiba Phule

(¢) Mohandas Karamchand Gandhi

(d) Bhimrao Ramji Ambedkar

With reference to the history of India, the terms

“kulyavapa” and “dronavapa” denote

(a) measurement of land

(b) coins of different monetary value

(c) classification of urban land

(d) religious rituals

Who among the following rulers advised his subjects

through this inscription?: “Whosoever praises his

religious sect or blames other sects out of excessive

devotion to his own sect, with the view of glorifying his

own sect, he rather injures his own sect very severely.”

(@) Ashoka (b) Samudragupta

(c) Harshavardhana (d) Krishna Deva Raya

What are the advantages of fertigation in agriculture?

1. Controlling the alkalinity of irrigation water is possible.

2. Efficient application of Rock Phosphate and all other
phosphatic fertilizers is possible.

3. Increased availability of nutrients to plants is
possible.

4.  Reduction in the leaching of chemical nutrients is
possible.

Select the correct answer using the code given below:

(@ 1,2and 3 only (b) 1,2 and4 only

(¢) 1,3 and 4 only (d) 2,3 and4only

Consider the following minerals:

1. Bentonite 2. Chromite

3. Kyanite 4. Sillimanite

In India, which of the above is/are officially designated

as major minerals?

(@ 1and 2 only (b) 4 only

(¢) 1and 3 only (d) 2,3 and4only

With reference to Ocean Mean Temperature (OMT), which

of the following statements is/are correct?

1.  OMT is measured up to a depth of 26°C isotherm
which is 129 meters in the south-western Indian
Ocean during January — March.
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2. OMT collected during January March can be used
in assessing whether the amount of rainfall in
monsoon will be less or more than a certain long-

term mean
Select the correct answer using the code given below
(@ 1only (b) 2 only

(c) Both 1and?2 (d) Neither I nor 2

With reference to chemical fertilizers in India, consider

the following statements :

1. At present, the retail price of chemical fertilizers is
market-driven and not administered by the
Government.

2. Ammonia, which is an input of urea, is produced
from natural gas.

3. Sulphur, which is a raw material for phosphoric acid
fertilizer is a by-product of oil refineries.

Which of the statements given above is/are correct?

(@ 1only (b) 2 and 3 only

() 2only (d 1,2und3

With reference to India’s Desert National Park, which of

the following statements are correct?

1. It is spread over two districts.

2. There is no human habitation inside the Park.

3. It is one of the natural habitats of the Great Indian
Bustard.

Select the correct answer using the code given below;

(@ 1and2only (b) 2 und 3 only

(¢) 1and 3 only (d 1,2and3

Siachen Glacier is situated to the

(a) East of Aksai Chin (b) East of Leh

(¢) North of Gilgit (d) North of Nubra Valley

With reference to the history of India, consider the

following pairs:

Famous Place Present State

L. Bhilsa Madhya Pradesh
2. Dwarasamudra Maharashtra

3. Girinagar Gujarat

4. Sthaneshwara Uttar Pradesh

Which of the pairs given above are correctly matched?
(@) 1 and 3 only (b) 1 and 4 only

(c) 2 and 3 only (d) 2 and 4 only

Consider the following statements:

1. 36% of India’s districts are classified as
“overexploited” or “critical” by the Central Ground
Water Authority (CGWA).

2. CGWA was formed under the Environment

(Protection) Act.

3. India has the largest area under groundwater
irrigation in the world.

Which of the statements given above is/are correct?

(@ 1 only (b) 2 and 3 only

(c) 2only (d) 1 and 3 only

Consider the following statements:

1. Jet streams occur in the Northern Hemisphere only.

2. Only some cyclones develop an eye.

3. The temperature inside the eye of a cyclone is
nearly 10 C lesser than that of the surroundings.

Which of the statements given above is/are correct:

(@ 1 only (b) 2 and 3 only

(c) 2only (d) 1 and 3 only

60.

61.

62.
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65.

66.

Among the following Tiger Reserves, which one has the

largest area under “Critical Tiger Habitat™?

(@) Corbett

(b) Ranthambore

(c) Nagarjunsagar-Srisailam

(d) Sunderbans

If a particular plant species is placed under Schedule VI of

The Wildlife Protection Act, 1972, what is the implication?

(@) A licence is required to cultivate that plant.

(b) Such a plant cannot be cultivated under any
circumstances.

(c) It is a Genetically Modified crop plant.

(d) Such a plant is invasive and harmful to the
ecosystem.

With reference to the period of Gupta dynasty in ancient

India, the towns Ghantasala, Kadura and Chaul were well

known as

(@) ports handling foreign trade

(b) capital of powerful kingdoms

(c) places of exquisite stone art and architecture

(d) important Buddhist pilgrimage centres

What is/are the advantage/advantages of zero tillage in

agriculture?

1.  Sowing of what is possible without burning the
residue of the previous crop.

2. Without the need for nursery of rice saplings, direct
planting of paddy seeds in the wet soil is possible.

3. Carbon sequestration in the soil is possible.

Select the correct answer using the code given below:

(@) 1 and 2 only (b) 2 and 3 only

(c) 3only (d 1,2and3

According to India’s National Policy on Biofuels, which

of the following can be used as raw materials for the

production of biofuels?

Cassava

Damaged wheat grains

Groundnut seeds

Horse gram

Rotten potatoes

6. Sugar beet

Select the correct answer using the code given below:

(@ 1,2,5and 6 only (b) 1,3,4 and 6 only

(©) 2,3,4and5 only (d 1,2,34,5and 6

Which one of the following statements best describes

the term ‘Social Cost of Carbon’? It is a measure, in

monetary value, of the

(@) long-term damage done by a tonneof CO, emissions
in a given year.

(b) requirement of fossil fuels for a country to provide
goods and services to its citizens, based on the
burning of those fuels.

(c) efforts put in by a climate refugee to adapt to live in
a new place.

(d) contribution of an individual person to the carbon
footprint on the planet Earth.

With reference to pulse production in India, consider the

following sentences:

1. Black gram (Urad) can be cultivated as both Kharif
and rabi crop.

2. Green gram (Moong) alone accounts for nearly half
of pulse production.

Nk =
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3. In the last three decades, while the production of
kharif pulses has increased, the production of rabi
pulses has decreased.

Which of the statements given above is/are correct?

(@ 1 only (b) 2 and 3 only

() 2only (d 1,2and3

“The crop is subtropical in nature. A hard frost is

injurious to it. It requires at least 210 frost-free days and

50 to 100 centimeters of rainfall for its growth. A light

well-drained soil capable of retaining moisture is ideally

suited for the cultivation of the crop.” Which one of the
following is the crop?

(@) Cotton (b) Jute

(c) Sugarcane (d) Tea

With reference to solar water pumps, consider the

following statements:

1. Solar power can be used for running surface pumps
and not for submersible pumps,

2. Solar power can be used for running centrifugal
pumps and not the ones with piston.

Which of the statements given above is/are correct?

(@ 1 only (b) 2 only

(c) Both 1and?2 (d) Neither 1 nor 2

With reference to the current trends in the cultivation of

sugarcane in India, consider the following statements:

1. A substantial saving in seed material is when ‘bud
chip settings’ are raised in a nursery and
transplanted in the main field.

2. When direct planting of setts is done, the
germination percentage is better with single-budded
setts as compared to setts with many buds.

3. If bad weather conditions prevail when setts are
directly planted, single-budded setts have better
survival as compared to large setts.

4. Sugarcane can be cultivated using settings prepared
from tissue culture.

Which of the statements given above is/are correct?

(@ 1 and 2 only (b) 3 only

(c) land4 (d) 2,3 and4 only

In the context of India, which of the following is/are

considered to be practice(s) of eco-friendly agriculture?

1. Crop diversification 2. Legume intensification

3. Tensiometer use 4. Vertical farming

Select the correct answer using the code given below:

(@ 1,2 and 3 only (b) 3 only

(c) 4only (d 1,2,3and 4

In India, which of the following can be considered as

public investment in agriculture?

1. Fixing Minimum Support Price for agriculture
produce of all crops

2. Computerization of Primary Agriculture Credit

Societies

Social Capital development

Free electricity supply of farmers

Waiver of agriculture loans by the banking system

Setting up of cold storage facilities by the

governments

Select the correct answer using the code given below:

(@ 1,2 and 5 only (b) 1,3,4and 5 only

(¢) 2,3 and 6 only (d 1,2,3,4,5and 6

kW
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What is the importance of the term “Interest Coverage

Ratio” of a firm in India?

1. It helps in understanding the present risk of a firm
that a bank is going to give a loan to.

2. It helps in evaluating the emerging risk of a firm that
a bank is going to give a loan to.

3. The higher a borrowing firm’s level of Interest Coverage
Ratio, the worse is its ability to service its debt.

Select the correct answer using the code given below:

(@ 1 and 2 only (b) 2 only

(¢) 1 and 3 only (d 1,2and3

Which of the following factors/policies were affecting

the price of rice in India in the recent past?

1. Minimum Support Price

2. Government’s trading

3. Government’s stockpiling

4. Consumer subsidies

Select the correct answer using the code given below:

(@ 1,2 and 4 only (b) 1,3 and 4 only

(¢) 2 and 3 only (d 1,2,3and4

Consider the following statements:

1. The value of Indo-Sri Lanka trade has consistently
increased in the last decade.

2. “Textile and textile articles” constitute an important
item of the trade between India and Bangladesh.

3. In the last five years, Nepal has been the largest
trading partner of India in South Asia.

Which of the statements given above is/are correct?

(@) 1 and 2 only (b) 2 only

(¢) 3only (d 1,2and3

In which one of the following groups are all the four

countries members of G20 ?

(a) Argentina, Mexico, South Africa and Turkey

(b) Australia, Canada, Malaysia and New Zealand

(¢) Brazil, Saudi Arabia and Vietnam

(d) Indonesia, Japan, Singapore and South Korea

Under the Kisan Credit Card scheme, short-term credit

support is given to farmers for which of the following

purposes ?

1. Working capital for maintenance of farm assets

2. Purchase of combine harvesters, tractors and mini
trucks

3. Consumption requirements of farm households

4. Post-harvest expenses

5. Construction of family house and setting up of
village cold storage facility

Select the correct answer using the code given below :

(@ 1,2and5 only (b) 1,3 and 4 only

(¢0 2,3,4andSonly (d) 1,2,3,4and5

Consider the following statements

1. The weightage of food in Consumer Price Index
(CPI]) is higher than that in Wholesale Price Index
(WPD).

2. The WPI does not capture changes in the prices of
services, which CPI does.

3. Reserve Bank of India has now adopted WPI as its
key measure of inflation and to decide on changing
the key policy rates.

Which of the statements given- above is/are correct ?

(@ 1and 2 only (b) 2 only

(c) 3only4, (d 1,2and3
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Consider the following pairs

River - Flows into

1. Mekong — Andaman Sea

2. Thames — Irish Sea

3. Volga — Caspian Sea

4.  Zambezi — Indian Ocean

Which of the pairs given above is/are correctly matched?

(@ 1and2only (b) 3 only

(¢) 3 and 4 only (d) 1,2and4only

Consider the following statements

1. In the case of all cereals, pulses and oil-seeds, the
procurement at Minimum Support Price (MSP) is
unlimited in any State/UT of India.

2. In the case of cereals and pulses, the MSP is fixed in
any State/UT at a level to which the market price will

never rise.
Which of the statements given above is/are correct?
(@ 1only (b) 2 only

(c) Both 1and?2 (d) Neither 1 nor 2

With reference to the Indian economy, consider the

following statements :

l.  ‘Commercial Paper’
promissory note.

2. ‘Certificate of Deposit’ is a long-term instrument
issued by the Reserve Bank of India to a
corporation.

3. ‘Call Money’ is a short-term finance used for
interbank transactions.

4.  ‘Zero-Coupon Bonds’ are the interest bearing short-
term bonds issued by the Scheduled Commercial
Banks to corporations.

Which of the statements given above is/are correct

(@ 1and2only (b) 4 only

(¢) 1and 3 only (d) 2,3 and4 only

With reference to Foreign Direct Investment in India,

which one of the following is considered its major

characteristics ?

(@ It is the investment through capital instruments
essentially in a listed company.

(b) It is largely non-debt creating capital flow.

(c) It is the investment which involves debt-servicing.

(d) It is the investment made by foreign institutional
investors in the Government securities.

With reference to the international trade of India at

present, which of the following statements is/are correct?

1. India’s merchandise exports are less than its
merchandise imports.

2. India’s imports of iron and steel, chemicals,
fertilisers and machinery have decreased in recent
years.

3. India’s exports of services are more than its imports
of services.

4. India suffers from an overall trade/current account
deficit.

Select the correct answer using the code given below :

(@) 1 and 2 only (b) 2 and 4 only

(c) 3 only (d) 1,3 and4 only

The term ‘West Texas Intermediate’, sometimes found in

news, refers to a grade of

(@) Crude oil (b) Bullion

(c) Rare earth elements (d) Uranium

is a short-term wunsecured

84.

85.

86.

87.

88.

89.

In the context of the Indian economy, non-financial debt

includes which of the following ?

1. Housing loans owed by households

2. Amounts outstanding on credit cards

3. Treasury bills

Select the correct answer using the code given below :

(@ 1 only (b) 1 and 2 only

(c) 3 only (d 1,2and3

In India, why are some nuclear reactors kept under

“IAEA Safeguards” while others are not ?

(@) Some use uranium and others use thorium

(b) Some wuse imported uranium and others use
domestic supplies

(c) Some are operated by foreign enterprises and others
are operated by domestic enterprises

(d) Some are State-owned and others are privately-
owned

With reference to Trade-Related Investment Measures

(TRIMS), which of the following statements is/are

correct?

1.  Quantitative restrictions on imports by foreign
investors are prohibited.

2. They apply to investment measures related to trade
in both goods and services.

3. They are not concerned with the regulation of
foreign investment.

Select the correct answer using the code given below :

(@ 1 and 2 only (b) 2 only

(¢) 1and 3 only (d 1,2and3

If the RBI decides to adopt an expansionist monetary

policy, which of the following would it not do ?

1. Cut and optimize the Statutory Liquidity Ratio

2. Increase the Marginal Standing Facility Rate

3. Cut the Bank Rate and Repo Rate

Select the correct answer using the code given below :

(@) 1 and 2 only (b) 2 only

(¢) 1and 3 only (d 1,2and3

With reference to the Indian economy after the 1991

economic liberalization, consider the following statements:

1.  Worker productivity per worker (at 2004 — 05
prices) increased in urban areas while it decreased in
rural areas.

2. The percentage share of rural areas in the workforce
steadily increased.

3. In rural areas, the growth in the non-farm economy
increased.

4. The growth rate in rural employment decreased.

Which of the statements given above is/are correct ?

(@ 1and 2 only (b) 3 and 4 only

(¢) 3only (d 1,2and 4

Consider the following statements :

1. In terms of short-term credit delivery to the agriculture
sector, District Central Cooperative Banks (DCCBs)
deliver more credit in comparison to Scheduled
Commercial Banks and Regional Rural Banks

2. One of the most important functions of DCCBs is to
provide funds to the Primary Agricultural Credit

Societies.
Which of the statements given above is/are correct ?
(@ 1only (b) 2 only

(c) Both 1and?2 (d) Neither It nor 2
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In India, under cyber insurance for individuals, which of

the following benefits are generally covered, in addition

to payment for the loss of funds and other benefits ?

1. Cost of restoration of the computer system in case
of malware disrupting access to one’s computer

2. Cost of a new computer if some miscreant wilfully
damages it, if proved so

3. Cost of hiring a specialized consultant to minimize
the loss in case of cyber extortion

4.  Cost of defence in the Court of Law if any third
party files a suit

Select the correct answer using the code given below :

(@ 1,2and4 only (b) 1,3 and4 only

(¢) 2and 3 only (d 1,2,3and4

With reference to cultural history of India consider the

following pairs :

1. Parivrajaka — Renunciant and Wanderer

2. Shramana — Priest with a high status

3. Upasaka — Lay follower of buddhism

Which of the pairs given above are correctly matched ?

(@ 1 and2 only (b) 1 and 3 only

(¢) 2and 3 only (d 1,2and3

With reference to Indian elephants,

following statements :

1. The leader of an elephant group is a female

2. The maximum gestation period can be 22 months.

3. An elephant can normally go on calving till the age
of 40 years only.

4.  Among the States in India, the highest elephant
population is in Kerala.

Which of the statements given above is/ are correct ?

(@ I and2 only (b) 2 and 4 only

() 3only (d) 1,3 and4 only

Which of the following Protected Areas are located in

Cauvery basin ?

1. Nagarhole National park

2. Papikonda National park

3. Sathyamangalam Tiger Reserve

4.  Wayanad Wildlife sanctuary

Select the correct answer using the code given below :

(@ 1 and 2 only (b) 3 and 4 only

(¢) 1,3 and 4 only (d 1,2,3and4

With reference to India’s biodiversity, Ceylon frogmouth,

Coppersmith barbet, Gray-chinned minivet and White-

throated redstart are

(a) Birds (b) Primates

(c) Reptiles (d) Amphibians

Which one of the following protected areas is well-

known for the conservation of a sub-species of the

Indian swamp deer (Barasinga) that thrives well in hard

ground and is exclusively graminivorous?

consider the

96.

97.

98.

99.

100.

(a) Kanha National Park

(b) Manas National Park

(¢) Mudumalai Wildlife Sanctuary

(d) Tal Chhapar Wildlife Sanctuary

Steel slag can be the material for which of the following?

1. Construction of base road

2. Improvement of agricultural soil

3. Production of cement

Select the correct answer using the code given below :

(@) 1 and 2 only (b) 2 and 3 only

(¢) 1 and 3 only (d 1,2and3

Which of the following are the most likely places to find

the musk deer in its natural habitat ?

1. Askot Wildlife Sanctuary

2. Gangotri National Park

3. Kishanpur Wildlife Sanctuary

4. Manas National Park

Select the correct answer using the code given below

(@) 1 and 2 only (b) 2 and 3 only

(¢) 3 and 4 only (d) 1 and4 only

In rural road construction, the use of which of the

following is preferred for ensuring environmental

sustainability or to reduce carbon footprint ?

1. Copper slag

2. Cold mix asphalt technology

3. Geotextiles

4. Hot mix asphalt technology

5. Portland cement

Select the correct answer using the code given below :

(@ 1,2and 3 only (b) 2,3 and 4 only

(c) 4 and S only (d) 1 and 5 only

Consider the following statements :

1. Coal ash contains arsenic, lead and mercury.

2. Coal-fired power plants release sulphur dioxide and
oxides of nitrogen into the environment.

3. High ash content is observed in Indian coal.

Which of the statements given above is/are correct ?

(@ 1 only (b) 2 and 3 only
(c) 3only (d 1,2and3
What is the use of biochar in farming ?

1. Biochar can be used as a part of the growing
medium in vertical farming.

2. When biochar is a part of the growing medium, it
promotes the growth of nitrogen-fixing
microorganisms.

3. When biochar is a part of the growing medium, it
enables the growing medium to retain water for a
longer time.

Which of the statements given above is/are correct ?

(@ 1and 2 only (b) 2 only

(¢) 1and 3 only (d 1,2and3



IAS Prelims Solved Paper-1

2020-9

ANSWERS AND EXPLANATIONS

1. @
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3. @
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6. (@
7. (¢)
8. (d)

2019-Sept: Delhi researchers have made a carbon
nanotube based sensor for detecting cancer cells,
says theHindu So, #3 1is right. Option-A is
eliminated. In all the remaining options, statement#4
is common, so We have to accept it as correct
without checking.

For biomedical applications, carbon nanotubes
show promise as vehicles for targeted drug-delivery
and nerve cell regeneration. says Britannica so #1
may be true.

Some of the research paper say that Artificial blood
vessels could be made so answer should be “C”.

Drone used for spraying pesticides on a crop field
says the Hindu So #I1 is correct.

Drone can be used for monitoring active volcanoes,
says Science USA news

Drones can be used for doing statement#3, says
reuters.com article

So all three correct

2016’s thehindu Article gives a description about
Evolved LISA fitting the question statement. So, D
answer.

2017’s the Hindu article says that CRISPR genome
editing tool can be used for accomplishing
statement#1.

2020-May: Asia Times says that #3 was done in China.
So, #3 is correct, Weare left with the answer “D”.
Recall that in 2018 too, UPSC had asked a question
from CRISPR genome editing Technology but it was
a much simpler one liner question.

This vaccine is 80% effective against meningitis,
sepsis and pneumonia So #1 is right.
Pneumococcal b conjugate vaccines have reduced
the burden of antibiotic-resistant bacterial disease
globally says the Lancet study-report 2017 So #2 is
right.

Various research papers have indicated that vaccine
may cause certain side effects and allergic reactions
so, #3 is wrong. Accordingly, Answer is B

Ravi Agrahari Science Tech Ch. 15:

India is among those few nations that have the
Digital Signature Legislation.
Digital signatures deploy
Infrastructure (PKI) technology.
NCERT Class10 Science: page 61- Plant cells, in
addition to the plasma membrane, have another rigid
outer covering called the cell wall. So, statement#2
is incorrect, so by elimination answer is C.

the Public Key

Source of benzene pollution is the automobile and
petroleum industry. (NIOS Page 167) So, #1 is correct.
Benzene and polycyclic aromatic hydrocarbons
(PAH) are ubiquitous environmental pollutants
generated during incomplete combustion of coal oil,
petrol and wood. They’re also found in cigarette
smoke and charcoal boiled food. So, #2 and #3 are

9. @
10. @)
11. (¢)
12. )
13. (@)

correct. (Tamilnadu State Board class 11 Chemistry
chapter 13)

Benzene is also present in particleboard furniture,
plywood, fibreglass, flooring adhesives, paints,
wood panelling. Therefore, new buildings or
recently redecorated indoor environments have
been associated with high concentrations of
benzene from materials and furniture. Says NCBI
research paper. So, #4 should be correct. Therefore
the answer should be D.

Keeping full capital account convertibility will make
India vulnerable to global crisis, just like the 1997°s
crisis among the East Asian countries. So number 3
is wrong.

If Indian Government /RBI allows opening of more
foreign banks in India, there could be a dangerous
scenario where foreign problems may percolate into
Indian economy. So, #2 is wrong. So we are left
with Answer (A) only 1.

Aggregate money supply means M3.

= Coin and currency with public +Demand Deposit
with commercial banks +Time Deposits with
commercial banks

So if you withdraw 100000 rupees from your
account then M3 will remain unchanged because ! 1
lakh will shift from the column of “demand
deposits” to the “coin currency with public.”

Bodhisattava are part of the Mahayana/Vajrayana
Tradition. They are mentioned in the Mahayana
literature called as the Vaipulya Sutra- written in
Sanskrit

Inside the Vaipulya Sutra- Prajna Paramita are
mentioned.

Rukhmabai was married off at an early age of 11.
Hence by 1880 she fought a court case against her
husband who demanded to live married life with her
& have physical relations with him.

She wanted to study further and also wanted the
marriage age should be increased leading to the
formation of Rukhmibaidefence committee
supported by social reformers like Behramji
Malabari, finally leading to the Age of Consent Bill-
1891 which increased the Minimum age of Marriage
She also became a doctor after resuming her studies.
Hence all 3 statements are correct

20th (twentieth) century means 1/1/1901 to 31/12/
2000. We have to find out why Indigo cultivation
declined by the beginning of 1901.

1917: Gandhi-ji’s Champaran Satyagraha. So, C is
not fitting the timeline.

NCERT Our Past-III: Page 35-36: In March 1859
thousands of ryots in Bengal refused to grow
indigo. As the rebellion spread, ryots refused to pay
rents to the planters, and attacked indigo factories
armed with swords and spears, bows and
arrows......After the revolt, indigo production
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collapsed in Bengal. But the planters now shifted
their operation to Bihar. With the discovery of
synthetic dyes in the late nineteenth century their
business was severely affected, but yet they
managed to expand production. In other words, the
invention of artificial dye did not affect them yet.

Lord Wellesley (1798-1805) wanted adequate
training for the European civil servants. At Fort
William College in Calcutta the civil servants from
all the presidencies took three years of training
before getting their civil posting.

But the Court of Directors feared that such a
training programme might result in the loyalties of
the civil servants shifting from London to Calcutta.
So in 1802 Fort William College was closed.

1890s: under the leadership of Birsa Munda, the
Mundass of the Chota Nagpur Plateau rebelled
against the British. It was called Ulgulan.

Statement 2- Incorrect because Amarsimha
belonged to the Court of Chandra Gupta- II (he was
one of the navratna). Thus, by elimination we are
left with correct answer C.

Statement 3- Correct because Kalidasa belonged to
the Court of Chandra Gupta- II ( he was one of the
Navratna).

Statement 1- Incorrect because Panini belonged to
the 5-6th Century BCE Period- he wrote Astdhyayi,
where asPushyamitra Sunga belonged to the Post
Mauryan Period- 2nd Century BCE- he came to
power after killing last Mauryan King- Brihadratha.
2016-TheHindu: Pronuclear transfer technology was
used for creation of a “three-parent baby” — It has
DNA from 1) father 2) mother 3) female donor- so as
to prevent mitochondrial disease..

As per the articles published in time.com and
theverge, Al has been used for writing songs and
stories So #2 is correct.

Al can be used for speech-to-text and text-to-
speech, assistive diagnostic solutions; So #3 #4 are
correct. Say Niti Aayog document page 81

Only in the d option 2, 3 and 4 are together so
answer should be “D”

Li-Fi is a Visible Light Communications (VLC) system
for running wireless communication. Li-Fi’s main
disadvantage: It is effective for short range only. Says,
Ravi Agrahari’s Book, chapter14 on the Internet.

So, #2 is wrong. By elimination, the answer is “C”.

Blockchain technology is a decentralized Data
Management Technology so #1 is right.

Blockchain Technology can be used for storing any
type of data from Land records to vehicle ownership
two transactions of cryptocurrency, So, #2 “ONLY for
cryptocurrency” is wrong. So B and C are eliminated.
Bitcoin and other cryptocurrencies & their wallets
have been created by computer experts, without
taking permission from any government or Central
Bank. so the third statement is correct. Therefore
the answer is D.

Article 75: The ministers are collectively responsible
to the Parliament in general and to the Lok Sabha in

22,

23.

24,

25.

26.

@

@

@

particular. The principle of collective responsibility
implies that the Lok Sabha can remove the ministry
(i.e., council of ministers headed by the prime
minister) from office by passing a vote of no
confidence.

So, B is the right choice.

Directive principles of state policy are given in the
Part I'V of the Indian Constitution (Article 36—51).
Within that, Article 38 mentioned about State to
secure a social order for the promotion of welfare of
the people.

Constitution of India does not define the term
‘basic structure’. It is a judicial tool that was
invented by the Supreme Court of India in the
Keshavananda Bharti vs State of Kerala (1973)
landmark judgment.

Even though, the Supreme Court invented the
concept of Basic Structure in the aforementioned
judgment, it did not define the same. However, it is
only in the later judgments that the court has added
various elements to the list of the basic structure of
the Constitution.

So, 1st statement is incorrect.

Article 13 of the Indian Constitution deals with the
‘CONCEPT’ of Judicial Review however, it does not
explicitly mentions the term judicial review. But
assuming that question is asking in general sense, the
answer should be “B”: Only 2nd statement correct.

Stateless Society: A society which lacks formal
institutions of government.

Gandhiji is a philosophical anarchist. Anarchist is
one who is opposed to every type of state;
Gandhian Ramrajya is that it is a self-regulating
system where everyone is one’s own ruler.
Marxism revolves a classless society and stateless
society. ~ Karl Marx had predicted that the
proletariats will take control of the state and
production, the, destroy all class differences and
class antagonisms, and finally resulting in the
‘withering Away of the State’. Thus, the end result
will be a stateless society.

Thus, we can inform that both Gandhi & Marx aimed
for Stateless society.

Bureaucrats are appointed by the President /
Governor of India for implementing the policies of
the government of the day. Other options are less
suitable.

A K. Gopalan vs State of Madras (1950): Supreme
Court ruled that Preamble is not enforceable in a
court of law.

Berubari Vs Union (19600) Supreme Court ruled that
Preamble is not a part of the Indian Constitution
however, it helps in interpretation of the clauses of
the Constitution.

Keshavananda Bharti vs State of Kerala (1973) —
Supreme Court ruled that the Preamble is a part of
the Indian Constitution.

The combined effect of the 3 judgments has been
that even though the Preamble is a part of the
Constitution, but it is not enforceable in a court of
law. However, the Preamble helps in ascertaining the
vision of the Constitution and hence,
independently, it is non-justiciable.
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(d Word Association - “Tranche” is something related
ot IMF. So, D is the answer.
@

Part-IV of the Indian Constitution deals with the
Directive Principles of the State Policy (Article 36 to
Article 51)

* Article 37: Provisions of Part-IV shall not be
enforceable by any court (Hence, 2nd statement is
correct)

* Article 37 of the Indian Constitution also states that
it shall be the duty of the state to apply these
principles in making laws as they are fundamental in
the governance of the country. So, #3 is correct. So,
by elimination, the answer is D.

(ad)

(why two answers possible)

*  As per the Representation of People Act, 1951, a
person convicted of any offence and sentenced to
imprisonment for not less than two years shall be
disqualified from the date of such conviction and
shall continue to be disqualified for a further period
of six years since his release. There is no clause of
“permanent disqualification” in the Representation
of Peoples Act, 1951. Hence, 2nd statement is
incorrect. So, answer could be A or D. It all depends
on the validity of the first statement#1.

*  According to some experts, #1 is right because

e A citizen becomes eligible to vote upon attaining
the age of 18.

e Whereas to become a member of the Vidhan Sabha,
he must be minimum 25 years old.

e Article 164(4) of the Indian Constitution — A
Minister who for any period of six consecutive
months is not a member of the Legislature of the
State shall at the expiration of that period cease to
be a Minister.

*  So, accordingly, some experts interpret that even 18
or 19 year old person (Who is eligible to vote), can
become minister for atleast 6 months. So#1 is right.

e Other experts differ, that “since Constitution itself
has not specifically said this, so statement#1 is
wrong”, so answer is “D”.

*  Final judge: we’ve to wait for the official answerkey
of UPSC

(a,)

*  Article 85 of the Indian Constitution empowers the
President to summon each house of the Parliament
at such time and place as he thinks fit. (Hence, 1st
statement is correct)

e The Constitution of India does not mention the
anything about the number of Parliamentary sessions
in a year. (Hence, 2nd statement is incorrect)

*  There is some ambiguity in the 3rd statement.

* If the UPSC interprets it in a narrow and literal
sense, then exact number of days for which the
Parliament is supposed to meet in a year is not
mentioned in the Constitution and hence, 3rd
statement is correct.

*  However, if we interpret the question in a broader

manner, then Article 85 of the Indian Constitution

mentions that 6 months shall not intervene the 2

sessions of the Parliament. Interpreting this clause,

it essentially means that Parliament has to meet at
least for 2 days in a year to prevent the violation of

Article 85. In such a scenario, 3rd statement is

incorrect.

31.

32.

33.

34.

3s.

36.
37.

@

@

)

@
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As per the Aadhar Act, 2016, read together with the
Supreme Court Judgment of 2018, the Aadhar
Metadata can be stored for a maximum period of 6
months. (Hence, 1st statement is incorrect)

In the 2018 judgment, Supreme Court held that
Aadhar is not mandatory to purchase the insurance
products however, it can be voluntarily used for KYC
of the insurance products. Even IRDAI has made the
similar rules. Hence, statement 3 is also incorrect.
Also, the Supreme Court ruled that any welfare
scheme, driving funds out of the Consolidated Fund
of India, would require Aadhar to deliver the
benefits to the intended beneficiaries. (Hence, 4th
Statement is correct)

Article 312: With regards to the creation of All India
Services, Rajya Sabha has special powers such that
if Rajya Sabha is passing a resolution by a majority
of 2/3rd of the members present and voting,
Parliament may, by law, create one or more All India
Services in national interest. So A is wrong.

Article 75(3) hold the government collectively
responsible to the Lok Sabha. Hence, in this
regards, Lok Sabha has greater power as compared
to Rajya Sabha. So C is wrong.

Cut Motions, which are meant to reduce the
amount allocated to the ministries in the demand
for grants, can be made only in Lok Sabha. Rajya
Sabha can only make recommendations with
regards to the cut motion. So D is wrong. Article
368 of the Indian Constitution, a bill to amend the
Constitution can be introduced in either house of
the Parliament and both the houses have equal
powers in respect to the Constitutional
Amendment Bill. So B is right.

15 percent of MPLADS funds are to be utilized for
areas inhabited by SC population and 7.5 per cent
for areas inhabited by ST population. So, #2 is
correct. B eliminated.

The funds released under the Scheme are non-
lapsable, i.e., the entitlement of funds not released
in a particular year is carried forward to the
subsequent years, subject to eligibility. So, #3 is
wrong. Upon reading the official guidelines page 34:
District Authority would inspect at least 10% of the
works under implementation every year. So, #4 is
right answer therefore Answer is D.

Following fundamental rights are related to
“Equality”:

Article 14 — Equality before law

Article 15 — Prohibition of discrimination on
grounds of religion, race, caste, sex, or place of birth
Article 16 — Equality of opportunity in matters of
public employment

Article 17 — Abolition of untouchability

Article 18 — Abolition of titles

Article 36 to Article 51 of our Constitution deal with
Directive Principles of the State Policy. Within that
Article 50 deals prescribes Separation of judiciary
from executive

This document is presented as per the Provisions of
the FRBM act.

in India, the constitutional government is a limited
government. The powers of the government are limited
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by means of the Fundamental Rights enshrined in the
Part-III of the Indian Constitution, that are essentially
given to us against the state actions.

Preamble to the Universal Declaration of Human
Rights mentions about dignity of an individual.
Preamble of Indian Constitution speaks about
“EQUALITY of status and of opportunity; assuring
the dignity of the individual and the unity and
integrity” So #1 is correct.

Article 23 of the Universal Declaration of Human
Rights mentions about the Right to Work. Similar
concept in Article 41 of the Indian Constitution,
under the head of DPSPs.

Article 29 of the Universal Declaration of Human
Rights mentions about duties. A similar concept that
was inserted in the Indian Constitution by the 42nd
Constitutional Amendment Act, 1976 under Part I'V-
A of the Constitution (Article 51A).

AS per the official page of NALSA: senior citizens
eligible depending on income. So, #4 “ALL senior
citizens eligible” is wrong. B and D eliminated.

As per the Legal Services Authority Act, 1987 —
There is no provision of free legal aid for OBCs.
(This eliminates the 3rd Statement) So, answer A: 1
and 2 only.

Alma-Ata Declaration — Healthcare of the People
Hague Convention — International Child
Abduction

Talanoa Dialogue — Global Climate Change

Under 2 Coalition — Reduction of Greenhouse Gas
Emission

Aurang- Persian term for Warehouse (given in
NCERT class 8- Our Past- II, also covered in the
Youtube Lecture). So, #1 is wrong, In both (B and C)
of this option pair#3 (Mirasidar) isis common so we
have to accept it as correct. Everything boils down
to whether second statement is correct or not.
Banian- Agent of East India Company, term used for
Bania (trader) so, #2 is correct— so the answer
should be “’B”.

Just to crosscheck the validity of third statement:
Mirasidar- Designated revenue payer to the State

Fourth Council convened in Kashmir under the
patronage of Kanishka

It resulted into division of all the Buddhists into
two major sects

Sarvastivadins (popular in Kashmir and Mathura
regions) and Mahasanghikas together forming the
Mabhayanists (followers of the Greater Vehicle),
Sthaviravadins and others forming the Hinayanists
(followers of the Lesser Vehicle);

Thus, Sthaviravadins is not part of Mahayana. So,
#1 wrong.

The Mahasanghikas gave rise to the following
sects: 1. Ekavyaharikas 2. Lokottaravadins 3.
Kukkutikas 4. Bahusrutiyas 5. Prajnapativadins 6.
Chaitya-sailas 7. Apara-sailas 8. Uttara-sailas. So, #2
is right, hence answer “B”.

Machines were very few. They were introduced in
the starting of the 20th Century CE So B is wrong.
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Railway lines were laid post 1850s- i.e. second half
of the 19th Century CE So C is wrong.

The British goods were given duty free trade
permits So D is wrong.

Since Option B, C & D- Incorrect, Therefore we are
left with the answer “A”.

Mahendra Varman- I (590- 630 CE)

Gopala (750 CE)

King Bhoja- Pratihara( 836-885 CE)

Prantaka-1 Chola ( 907-953 CE)

Hundi is a note recording a deposit made by a person.
The amount deposited can be claimed in another place
by presenting the record of the deposit.

This is not available in routine preparation books.
Upon searching the internet, “Desher Katha was
book largely based on the ideas of Naoroji and
Digby. It presented the vices of the British rule, The
mean of the peasants, the ruin of Indian industry
and British empire’s hypnotic quest over mind. #1 is
correct.

Deuskar in his book, opposed the partition of
Bengal. But, The overall theme of his book is not
confined to So, Answer should be “A”.

Gandhi-Irwin Pact- 5th March 1931- Also known as
Delhi Pact

Outcome of the Congress starting the Civil
Disobedience Movement

Solution by Viceroy Irwin- proposed congress to
suspend civil disobedience movement and
participate in the second meeting of the round table
conference

Gandhiji also demanded release of political
prisoners not convicted of violence from jails and
other demands of withdrawal of ordinances
Enquiry into the police excess was not part of the
Gandhi- Irwin Pact.

Can be answered from elimination because BR
Ambedkar & MK Gandhi worked in the 20th
Century. And Jyotiba Phule wrote- Ghulam Giri
(Book)

Hence only A option is left, which is correct.
Gopal Baba Walangkar- leader of the Mahar
Movement in 19th century. He was an ex-
serviceman and demanded more jobs in the army
and other government services. He was a
contemporary  of  JyotibaPhule.Gopal  baba
published Vital- Vidhvanasak

Measurement of Land — different terms used during
Gupta Age- mentioned in different inscriptions-
Kulyavapa, Dronavapa, Adhavapa And Pataka from
Bengal,

Nivartana And Hhumi from central India, and to
Nivartana And Padavarta from western India

Very tough to attend, not given in standard books
like NCERT or Tamilanadu

Ashoka’s Dhamma- Always talked about Tolerance
among all sects.

NCERT vocational class 11 floriculturist book page
84: When an element forms precipitate with another
substance commonly found in the irrigation water, it
is not advisable to use this method. Phosphorus
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and anhydrous ammonia may form a precipitate in
water with high calcium and magnesium content. So
they are not used in fertigation. So 2nd statement is
wrong by elimination we arrived at the answer “C”.

Chromite(#2) is a metallic mineral and metallic
mineral are mostly in the major mineral category. So,
We are 50:50 between A or D.

According to official sites of the ministry of mines
2,3 and 4 are listed as major minerals. ’! Correct
answer is D

OMT is measured up to a depth of 26 degree C
isotherm. During January—March, the mean 26
degree C isotherm depth in the Southwestern Indian
Ocean is 59 metres. So, #1 is wrong.

Sea surface temperature (SST) is routinely used for
predicting whether the total amount of rainfall that
India receives during the monsoon season will be
less or more than the long-term mean. However,
ocean mean temperature (OMT) has better ability to
predict this, than SST. So, #2 is correct.

#2 is right as per NCERT Class12 Chemistry.

2019: Government replied in Rajya Sabha, “As far as
market-linking of urea prices is concerned, the MRP
of urea is statutorily fixed by the Government.
Whereas, MRP of Phosphatic and Potassic (P&K)
Fertilizers the manufacturers/marketers are allowed
to fix the MRP at reasonable rates as per market
dynamics.” Therefore first statement is not fully
correct. (REF: PIB) So #1 is wrong.

Indian Bureau of mines booklet: The sulphur is
obtained as a by-product from oil refineries. Most of
the sulphur is converted to sulphuric acid (H2SO4)
which is used in the manufacture of phosphatic
fertilizer. So #3 should be correct. Hence the answer
is “B”.

Normally human activities are not allowed in
National Park but many villagers lived inside Desert
National park, and they did not have access to even
basic facility like road, electricity and water. 2017:
Supreme Court ordered the government to provide
such facilities to them So,#2 as wrong. By
elimination the answer is C.

Desert national park is spread in two districts of
Rajasthan Jaisalmer &Barmer. So #1 is correct

It is Natural home to the Great Indian Bustard. 3rd
Statement is right

2019: The Defence Minister announced the Siachen
area will be opened for tourists. It’s is situated to
north of Nubra Valley so correct answer is d .
Mapping Question

Bhilsa- Madhya Pradesh- Correct- Known as
Vidisha, main centre of the Sunga dynasty
&Udaigiri caves in Madhya Pradesh (not to be
confused with Udaigiri-Odissa)

Girinagar- Gujarat- Correct

Sthaneshwara- Uttarpradesh- Incorrect.
Sthaneshwara- located in Harayana (not in
Uttarpradesh) Main seat of the

Pushyabhutidyansty- Harshavardhan (606-647CE)
originally belonged to Sthaneshwara, who later on
shifted the capital at Kannauj

4.
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Dwarsamudra- Maharashtra- Incorrect- Hoysala
dynasty used to rule from Dwarsamudra- also
known as Halebid — located in Karnataka.

The Central Ground Water Authority (CGWA) was
formed under  the Environment (Protection)
Act.1986,2nd statement is correct.

The countries with the largest extent of areas
equipped for irrigation with groundwater, in
absoluteterms, are India (39 million ha), China (19
million ha) andthe USA (17 million ha). Says FAO
research paper published in 2010. So, #3 is correct
So Answer B.

Jet streams are high altitude westerly wind system
blows at a height of 6 to 14 km, with very high
speed up to 450 km/hr in wavy form at both
hemispheres. So #1 is wrong.

Centre of the cyclone is called as Eye. The eye is a
Calm region with no rainfall and experiences highest
temperature and lowest pressure within the cyclonic
system. So #3 is wrong. So, by elimination, Answer
is C.

Sundarban has Critical Tiger Habitat area of 1699.62
sq.

Nagarjunsagar-Srisailam Core/ Critical Tiger Habitat
: 3721 Sq. Km

If Sundarbans critical Tiger Habitat is smaller than
Nagarjunsagar then remaining options are unlikely
to have a bigger size than Nagarjunsagar so answer
should be C.

Wildlife Protection Act, 1972, has six schedules.
No person is allowed to cultivate a specified plant
mentioned in schedule 6, except with a licence
granted by the Chief Wild Life Warden. The plant
mentioned in the sixth schedule are

1. Beddomes’ cycad

2. Blue Vanda

3. Kuth

4. Ladies slipper orchids

5. Pitcher plant

6. Red Vanda

By Elimination

Portuguese will be fighting the Battle of Chaul to
control coastal areas of Western India.

Open burning of crop residues in the agricultural
fields has become an environmental concern in
India, particularly during paddy harvesting season.
....The Union government is providing subsidy for
Happy Seeders, Zero Till Seed Drill etc. which can
help planting the seeds for next crop without
burning the previous crop. So, #1 is correct. Ref:
Economic Survey 2019-20 Volume 2 page 186-189.
In the zero tillage, We are not disturbing the soil
and we are not burning the previous crop Residue
so that way, it could help in Carbon sequestration.
So, #3 should be correct.

National Policy on Biofuels 2018 identified following
raw materials for biofuel generation:

Molasses, Sugarcane juice, biomass in form of
grasses,
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agriculture residues (Rice straw, cotton stalk, corn
cobs, saw dust, bagasse etc.) ,

sugar containing materials like sugar beet, sweet
sorghum, etc.

starch containing materials such as corn, cassava,
rotten potatoes etc.,

Damaged food grains like wheat, broken rice etc.

In the entire policy document there is no mention of
horse gram or groundnut so, #3 and #4 are wrong.
By elimination we arrived at answer A.

In microeconomics, Social cost is a concept
associated with some type of negative externality.
For example, Factories emit large amount of smoke
from their chimneys into the atmosphere. This may
not figure in the calculation of costs in their
records. But the cost to the community may be in
the form of additional washing bills for clothes and
the money spent by the community on medical bills
etc. These costs are social costs.

OECD defines Social Cost of Carbon as the net
present value of climate change impacts over the
next 100 years (or longer) of one additional tonne of
carbon emitted to the atmosphere today.
Considering these interpretations, A is the closest option.

India produces a variety of pulses so it is difficult to
believe that green gram alone accounts for nearly
50% of production. #2 should be wrong, And by
elimination the answer should be “A”. But just to be
sure let’s cross check with the data

Looking at the PIB production data of 2016, 2017
and 2018: Gram (Chanaa) and Tur production seem
to be higher than Green gram (Moong), so, #2 is
wrong. So, B, C and D were eliminated.

Further in the same data set we can also see that
There is no clear cut increase or decrease as
described in the statement 3. So #3 is wrong. And,
Black gram (urad) Production detail for both Rabi
and kharif seasons are given so #l is right.

Sugarcane requires an annual rainfall between
75cm.and 100cm. Irrigation is required in the regions
of low rainfall. So, #C eliminated.

Cotton requires high temperature, light rainfall or
irrigation, 210 frost-free days.

Jute: requires high temperature, heavy rainfall and
humid climate

Tea: requires cool climate and well distributed high
rainfall throughout the year

Cotton: Cotton requires high temperature, light
rainfall, 210 frost-free days.

Considering these descriptions, cotton seems to be
the better choice among the given options.

Some solar submersible pumps use a centrifugal
mechanism as a surface pump, While others use a positive
displacement mechanism. So that means statement#1 is
WRONG and second#? is partially correct.

Further internet search reveals existance of solar
powered piston pump systems that can pump water
from a well and delivers it to an elevated Storage
tank. #2 is wrong.

Class 12 NCERT Biology : Chapter 9- Strategies for
enhancement in food production- Page 177: What
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does tissue culture mean? Any part of a plant taken
out and grown in a test tube. Scientists have
succeeded in culturing meristems of banana,
sugarcane, potato, etc So, #4 is right. Still there is
confusion. Further, ICAR handbook, too, confirms
#4 is right.

From an agriculture research paper: under adverse
climatic conditions, single-budded setts were likely
to suffer more than three-budded setts. So, #3 is
wrong. So, Answer should be “C”.

Crop diversification reduces the need of herbicides.
So, #1 is correct.

We can save huge quantity of water and energy by
knowing when and how much water is required by a
crop. Use of tensiometers could be really helpful in
providing estimates of soil moisture. So, #3 is
correct.

Vertical farming uses significantly less water and
pesticides than traditional agricultural methods. So,
#4 is correct. Therefore the answer should be “D”.

Investment is a term associated with the capital part
of the budget. So “subsidy” - a revenue part is not
an example of ‘public investment’. Economic Survey
2019-20 page 84 also confirms this.

Free electricity to farmers involves the government
paying subsidy to the electricity company.
Therefore #4 is wrong. Setting up of cold storage
facilities can help in preservation of the perishable
agricultural commodities so #6 is valid. So, answer
should be “C”.

NCERT class 12 Accountancy book also confirms,
“A higher Interest coverage ratio ensures safety of
interest on debts.”

Third statement is wrong. Statement 1 is correct, By
looking at the interest coverage ratio we can
identify the present risk of a firm (That it is not
generating good revenue). There is only “A” option
where statement#1 is present.

Prima facie all of these activities will affect the price
of rice in India but just to cross check with
authentic sources: refer to Economic Survey 2019-20
Volume 2

page 156: “Prices of rice and wheat remained stable
since 2014 due to adequate supply and also due to
maintenance of adequate buffer stock of rice and
wheat (by FCI)” So, #3 is correct. So Option A
eliminated.

Page 210: “Sale of wheat and rice is undertaken
through Open Market Sale Scheme (OMSS) so as to
check inflationary trend in prices of foodgrains”. So,
#2 is also correct. So Option B eliminated.

The National Food Security Act provides
subsidized rice at ! 3 per kg to the poor families. So,
#4 is correct.

There is only one option where 2, 3 and 4 are given
together- Option D.

The phrase “consistently increased” in the last one
decade is difficult to digest. So, #1 should be
wrong. checking the statistical appendix of
economic survey 2018-19 page 130, it’s evident that
India’s export to SriLanka was >34000 crore (2015),
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>26000 crore (2016), >28000 crore (2017). Thus, it is
not a steady increase but zigzag graph. Statement
one is wrong.

In South Asia, Bangladesh is bigger in GDP and
population, compared to Nepal. So in terms of
India’s import and export relationships it is unlikely
that Nepal would be India’s largest trading partner
in South Asia. So, #3 should be wrong.

Thus, we are left with answer B.

The members of the G20 are: Argentina, Australia,
Brazil, Canada, China, France, Germany, India,
Indonesia, Italy, Japan, Republic of Korea,
Mexico, Russia, Saudi Arabia, South Africa,
Turkey, United Kingdom, United States, and the
European Union.

Kisan Credit Card primarily meant for buying farm
inputs.So construction of ‘family house’ seems far-
fetched. So, #5 is wrong. Further, setting up a
village cold storage facility cannot be done through
a short-term credit (as given in the question
premise) it will require a very long term loan. So, #5
is wrong. By elimination we are left with answer “B”.
Interestingly no questions from the government
schemes related to insurance and pension.
Although in the last two years many initiatives were
undertaken such as PM Shram Yogi Maan Dhan,
Laghu Vyapari Maan Dhan, Kisan Maan Dhan etc.
schemes

Under the new monetary policy Framework effective
since 2016, RBI tries to control inflation at 2-6% of
CPI (All India). So, #3 is wrong. Option C and D
eliminated. In both (A & B) the options, statement#2
is common so we have to accept #2 as correct, Even
without checking. Everything boils down to
whether statement#1 is correct or not?

Both WPI and CPI are based on Laspeyres formula
wherein weightage is assigned to multiple
commodities and their prices are tracked. The
weight of an individual commodity depends on how
frequently it is bought by the consumer. So
obviously consumer price index would be giving
more weightage to the food products compared to
WPI which is aimed at the manufacturers. So, #1
should be correct.

Volga is one of the most important rivers of Russia.
It provides a navigable waterway of 11,200 km and
drains into the Caspian Sea. So #3 is right, The
Zambezi drains in Indian Ocean. So answer is C.

Successive Economic surveys have highlighted that
Government’s open ended procurement is limited to
wheat and rice.

And even after PM-AASHA reforms, procurement is
not done for all the cereals for which MSP is
announced (e.g. Jowar, Bajra, Ragi etc). So, #l is
wrong.

Market factors of Supply and demand may create a
scenario where market price of cereal/pulses may
rise higher than MSP. Market players are not legally
bound to keep their prices lower or higher than
MSP. So, #2 is wrong.

Certificate of deposit is a short term debt
instrument. #2 is wrong since it says ‘long term
instrument’. This eliminates A and D.

81.

82.

83.
84.

85.

86.

87.

)

@

(@)
@

#3: Call money is a short term finance for interbank
transactions that is correct. So, Answer is C.

FDI is more than 10% equity investment by a
foreign entity into an Indian company.

That means debt / borrowing / loans are not the
words we associate with FDI and therefore option C
and D are wrong.

Walmart has invested billions of dollars worth FDI
into Flipkart which is still an unlisted company
(Unlisted company means its shares are not listed in
stock exchange such as BSE NSE.)Therefore, A, is
also wrong. So, Answer should be B.

Continuously, we are suffering from current account
deficits so for statement#4 is correct. Option A and
C are eliminated since they don’t contain #4.
Further India’s Merchandise/ goods export is less
than its goods imports. So, #1 is correct. Hence the
answer should be D.

For further datasets, you may refer to Economic
Survey 2019-20 Volume 2: page 104.

WTI is associated with crude oil trade in USA.

“Non-Financial debt” excludes the debt of Financial
Institutions i.e. those institutions that borrow solely
to re-lend and the money. [In other words if,
NABARD, ILFS etc had borrowed money to re-lend
it, then it’d be financial debt. And all other type of
debt will be “non-Financial debt”]

So, In above options, all three loans are taken by
persons or entities who’ll not ‘re-lend’ it, but They
will use the funds for their own purpose. Therefore,
Answer should be “D”.

As per the India-US Civilian Nuclear Deal, India can
maintain 2-types of nuclear reactors. Certain
reactors, in which we are using the domestic fuel,
India can keep them outside the purview of IAEA.
However, the reactors in which we are using
imported fuel, they will be mandatorily under the
TAEA inspection.

There are at present 22 operational reactors, of
which 14 are under the International Atomic Energy
Agency (IAEA) safeguards as these use imported
fuel.Ref: 2019’s Economic Times Article.

As per the official page of WTO: The Agreement is
not concerned with the regulation of foreign
investment. So, #3 is right. The coverage of the
Agreement is defined in Article 1, which states that
the Agreement applies to investment measures
related to trade in goods only. Meaning, the TRIMs
Agreement does not apply to services. So, #2 is
wrong. So, Answer should be C.

During the Expansionary Money / Cheap Money /
Dovish Monetary Policy, RBI will try to increase the
supply of money and/or reduce the loan interest
rates.

So reducing the SLR, bank rate and repo rate will
help in that regard. So, RBI may do 1 and 3. So, here
question is asking, “WHAT RBI WILL NOT DO?”
So, Option A, C and D are eliminated. we are left
with answer B: Only 2.

Increasing the MSF will raise the loan interest rates,
so, if RBI pursues Expansionary policy, it’ll not do it.
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Some candidates engage in hairsplittery (T 1
et ), that under the external benchmark
system, loans are linked with repo rate so #2
unlikely to have any impact. But such hairsplittery
is not required for the scope of exam

After the LPG reforms of 1991 it is inevitable that
the rural/agriculture workforce would start shifting
towards urban/non-agri sectors. So that means #2 is
wrong and #3 should be correct.

Since the total number of workers have remained
more or less the same but # of rural workers
declined, That means their Percentage share also
declined, And it will also hint that growth rate in
Rural Employment has decreased. so Statement#2 is
wrong while #4 is correct. Only option B fits into
this pattern.

Compared to DCCB, scheduled commercial banks
command larger quantities of deposits, more number
of Bank branches, have an obligation to give 18% of
their loans to agriculture under the priority sector
lending (PSL). Therefore statement#1 is unpalatable
(BSH T ) and wrong.
Statement#2 is correct. DCCBs
downwards to PACS.

If you make the word Association that cyber
insurance means something that arises out of this
internet related cyber security challenge then the
second statement is difficult to digest, that if your
personal enemy / neighbour’s kid / ex-husband/wife
physical damages your computer.” Insurance firm
will pay the cover for that. So, #2 is wrong. By
elimination the answer should be “B”.

give funds

During Vedic age, there was a lot of emphasis on
rituals and sacrifices. This type of excessive
ritualism produced a natural reaction in the form of
Sramana religion, which protested against the divine
origin of the Vedas and efficacy of the sacrifices.
Sramanas were recruited from all people irrespective
of caste and creed. Their teachers were anti-Vedic
and anti-Brahmanic and they challenged Vedic
learning and Vedic rituals. So, #2 is wrong, By
elimination we are left with correct answer “B”

Sree Narayana Guru had become a ‘Parivrajaka’ (one
who wanders from place to place in quest of Truth),
so, #1 is correct.

As per the 2017’s data: Karnataka has the highest
number of elephants (6,049), followed by Assam
(5,719) and Kerala (3,054). So 4th statement - wrong.
In the majority of cases an elephant group is headed
by a female elephant, named ‘matriarch’. So, #1 is
correct ’! Answer should be A.

Caurvery basin lies in the States of Tamil Nadu,
Karnataka, Kerala and Pondicherry.

Papikonda National Park is in Andhra Pradesh So,
#2 is wrong. In both of these options statements 3
and 4 are common so we have to accept them as
correct without checking. Everything boils down to
weather Statement#1 is right or not?

Nagarhole National Park is located in Karnataka,
and is the in Cauvery basin. So, Answer C.
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The hindu has covered some of the birds selectively
in news but difficult to remember in real life.

Kanha National Park in Madhya Pradesh is well
known for the Barasingha or the Swamp deer.

Steel slag, an unavoidable by-product in iron and
steel production. Developed countries like Japan,
USA have taken lead in making fertilisers using
steel-making slag, says 2018’s article in Financial
Express So, #2 is correct.

Steel Slag is used in road metal and bases,
producing portland slag cement. It is also used for
soil conditioning. Says Handbook of Indian Bureau
of mines page 6. So, All #3 statements correct.

Musk deer are found in high altitude ecosystems, in
the colder part of Himalayas.

Kishanpur Wildlife Sanctuary is in Uttar Pradesh.
So, #3 is unlikely t be a Natural habitat of Musk deer
both of the remaining options first statement is
common. Now between the Gangotri and Manas,
Manas (Assam) is likely to be a lower altitude place
so, A: 1 and 2 should be the answer.

Coir is a natural fibre. Government has allowed the
use of coir based geotextiles for construction of
rural roads under the Pradhan Mantri Gram Sadak
Yojana in 2020. So, #3 is correct

In the Hot Mix Asphalt technology, Asphalt is
heated & poured over stone, sand, gravel, then a
heavy roller is driven over it to compact the road
surface. If you visualise the entire process, it results
into emission of many gases because of heating so,
does not seem to help reducing the carbon
footprint. #4 is wrong and so the answer is A.
Copper slag is a by-product obtained during
smelting and refining of copper. Copper slag is non-
hazardous, non-toxic material. This eco-friendly
industrial by-product is being used in government
road projects for the past 3 years now, says the
report by Sterlite Copper Company. Research papers
published in Springer journal, also tell a similar
story. So, #1 is correct, & Answer should be A.

Excessive burning of coal, wood, kerosene, petrol
etc. release toxic gases such as SO2 (sulphur
dioxide), NOx (oxide of nitrogen),CO(carbon
monoxide) and hydrocarbons in the air. These gases
are also emitted by industries, power plants,
automobiles and aircrafts. Says NIOS Environment
Book Page 33. So, #2 is correct.

*Coal ash contains contaminants like mercury,
cadmium and arsenic. So, #1 is correct, So Answer
D.

Biochar is a stable, carbon—rich form of charcoal
that is applied to soil.

biochars from manures and food wastes recorded
higher nitrogen and phosphorus levels. So #2 is
right.

Some biochars can increase soil fertility, water
holding capacity and crop productivity. So #3 is
right

There is only one option where #2 and #3 are
together so answer is “d”.
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With reference to Mughal India, what is/are the difference/

differences between Jagirdar and Zamindar?

1. Jagirdars were holders of land assignments in lieu of
judicial and police duties, whereas Zamindars were
holders of revenue rights without obligation to perform
any duty other than revenue collection.

2. Land assignments to Jagirdars were hereditary and
revenue rights of Zamindars were not hereditary.

Select the correct answer using the code given below.

(@ 1only (b) 2 only

(c) Both1land2 (d) Neither 1 nor 2

With reference to land reforms in independent India, which

one of the following statements is correct?

(@) Theceiling laws were aimed at family holdings and not
individual holdings.

(b) The major aim of land reforms was providing
agriculture land to all the landless.

(c) Itresulted in cultivation of cash crops as a predominant
form of cultivation.

(d) Land reforms permitted no exemptions to the ceiling
limits.

The Global Competitiveness Report is published by the

(@) International Monetary Fund

(b) United Nations Conference on Trade and Development

(c) World Economic Forum

(d) World Bank

Consider the following statements about 'the Charter Act of

1813':

1. Itended the trade monopoly of the East India Company
in India except for trade in tea and trade with China.

2. It asserted the sovereignty of the British Crown over
the Indian territories held by the Company.

3. The revenues of India were now controlled by the
British Parliament.

Which of the statements given above are correct?

(@ land2only (b) 2 and 3 only

(¢) land3only (d) 1,2and 3

With reference to Swadeshi Movement, consider the

following statements :

1. It contributed to the revival of the indigenous artisan
crafts and industries.

2. TheNational Council of Education was established as
a part of Swadeshi Movement.

Which of the statements given above is/are correct?

(@ 1lonly (b) 2 only

(c) Both1land2 (d) Neither 1 nor 2

10.

11.

12.

Time Limit: 2Hr.

Consider the following pairs :

Movement: Organization Leader

1. All India Anti-Untouchability League: Mahatma
Gandhi

2. All India Kisan Sabha: Swami Sahajanad Saraswati

3. SelfRespect Movement: E.V. Ramaswami Naicker

Which of the pairs given above is/are correctly matched?

(@ 1lonly (b) 1 and 2 only

(¢) 2and3only (d) 1,2and3

Which one of the following is not a Harappan Site?

(@) Chanhudaro (b) Kot Diji

(¢) Sohagaura (d) Desalpur

In which of the following relief sculpture inscriptions is

'Ranyo Ashoka' (King Ashoka) mentioned along with the

stone portrait of Ashoka?

(a) Kanganahalli

(c) Shahbazgarhi

Consider the following :

1. Deification of the Buddha

2. Treading the path of Bodhisattvas

3. Image worship and rituals

Which of the above is/ are the feature/ features of Mahayana

Buddhism?

(@ 1lonly (b) 1 and 2 only

(¢) 2and3only (d) 1,2and3

With reference to forced labour(Vishti) in India during the

Gupta period, which one of the following statements is

correct?

(@) It was considered a source of income for the State, a
sort of tax paid by the people.

(b) It was totally absent in the Madhya Pradesh and
Kathiawar regions of the Gupta Empire.

(¢) The forced labourer as entitled to weekly wages.

(d) The eldest son of the labourer was sent as the forced
labourer.

Building 'Kalyaana Mandapas' was a notable feature in the

temple construction in the kingdom of

(@) Chalukya (b) Chandela

(¢) Rashtrakuta (d) Vijayanagara

Consider the following statements :

1. Inthe revenue administration of Delhi Sultanate, the
in-charge of revenue collection was known as 'Amil'.

2. The Iqta system of Sultans of Delhi was an ancient
indigenous institution.

3. The office of Mir Bakshi' came into existence during
the reign of Khalji Sultans of Delhi.

(b) Sanchi
(d) Sohgaura
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